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ROJ*I9Q8@M5%WPU2AD7F8%43ZEK1IWNG6#VY

Which of the following is the fourth to the
left of the sixth to the left of W In the
above arrangement?

IRFd HaeaT § FfR@adaslaw &
917 ¥ & & 910 J Tlar g2

01.U
02.D
03. E
04. 7
05.9
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ROJ*I9Q8@M5%WPU2AD7F8%43ZEK1IWNG6#VY

How many such consonants are there In
the above arrangement each of which
Immediately followed by a symbol but not
Immediately preceded by a number?
IRNFT ITEAT A T frdal ogora ¢ e 4@
Ycdd & did 916 THh Udleh g dAfhed 3 Ugal
U HEAT A8l 872

01. None

02. One

03. Two

04. Three

05. More than three
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ROJ*I9Q8@M5%WPU2AD7F8%43ZEK1IWNG6#VY

How many such symbols are there in the
above arrangement each of which Is
Immediately preceded by a letter and
Immediately followed by a number? ‘
INFA gaedT & ¥ fhaa udis & o |
Ycddh & 3P Ugo THh HER 3R & d1g T
TEAT 87

01. None

02. One

03. Two

04. Three

05. More than three
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ROJ*I9Q8@M5%WPU2AD7F8%43ZEK1IWNG6#VY

Which of the following is the ninth to the
right of the seventeenth from the right end
In the above arrangement?

3T FaEYT A fAFfa@d & 9 Sl a1
SR § ¥9gd F e A Alarg?

o000 Oo
OB WN =
xghwz
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TAP NOT MAT PQR STB

If the given words are arranged in the order
as they appear in a dictionary from right to
left, which of the following will be second
from the left end? R .

Ife fT T ereat ! ey # ¢ § 91C @S
& a1 ®A A cyafeyd fryr s, ar
fArsfaf@a & @ Fia a1 97 oR F q@r geEmn?

01.MAT
02. NOT
03. STB
04. TAP
05. None of these



Live Quiz
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TAP NOT MAT PQR STB

If in each of the word given, the second
alphabet is replaced by its following alphabet
and the third alphabet is replaced by its
preceding alphabet as per the English
alphabetical order, then how many words thus
formed will be without any vowels?

Ife T T yeAF ereg # JUTATAT HH &
W{H‘Taﬁﬁmmamﬁaﬁ?maﬁ
FY 38® gaadt gof F aed 1 1w, aY 39 TR
mm‘ﬁmﬁamfﬁmMW*aﬁo

01. None
02. One
03. Two
O4. Three
05. Four
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TAP NOT MAT PQR STB

How many letters are there in the English
alphabetical series between the third letter of
the word which is second from the left end and
the second letter of the word which is third
from the right end?

3T JUIATET H 91T BR H gAY A F A4 HeT
ﬁtm;ﬁ#ﬁ@&m#@am#aﬁﬁmﬁ
e 57?2

01. 20
02. 19
03.18
04. 17
05. None of these
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TAP NOT MAT PQR STB

If the positions of the first and the third
alphabet in each of the words given are
Interchanged, then how many meaningful word
will be formed?

7 T T YA+ 2reg g 3 Y aof & Tum=
39 H 95 feT AT, AT fhdel 3rdqur ereg qa441?

01. Two
02. One
03. Four
O4. Three
05. None
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TAP NOT MAT PQR STB

If in each of the given words, every consonant
IS changed to its previous letter and every
vowel Is changed to its next letter according to
the English alphabetical series, then in how
many words, thus formed, at least one vowel
will appear?

7 T a1 g ereq # 33l quiaATar & 3TaR
Yol colel FI 3TF oo 7R F g¢a f8a1 51w
IR TAF T HY ITS I HER F Il 37 AT,
dl W YR o fohcel eal A FA § FH T T
3TUIT?

01. None

02. One

03. Two

04. Three

05. None of these
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‘Big Bear Group Danger’ is written as ‘laa sil aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sil aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sil aaa’

How will ‘Find’ be written in that code language?
01. jaa

02. gee

03. laa

04. sii

05. None of these
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‘Big Bear Group Danger’ is written as ‘laa sil aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sil aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sil aaa’

What will be the code for ‘Big’ in that code language?

01. jaa
02. fuu
03. laa
04. aaa
05. None of these
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‘Big Bear Group Danger’ is written as ‘laa sil aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sil aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sil aaa’

‘laa koo gee’ is stand for

01. Find Big Bear

02. Danger Bear And

03. Group Danger Big
04. Find Danger And

05. None of these
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‘Big Bear Group Danger’ is written as ‘laa sil aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sil aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sil aaa’

‘What will be the code for ‘Bear’ in that code
language?

01. jaa

02. aaa

03. koo

04. sii

05. None of these
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‘Big Bear Group Danger’ is written as ‘laa sil aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sil aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sil aaa’

What will be the code for ‘Danger’ in that code
language?

01. jaa

02. gee

03. fuu

04. sii

05. None of these
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Statements:

Only a few W are M.
All P are M.

Conclusions:

. All W can never be P.
ll. At least Some P are W.

01. Only conclusion | follows.
02. Only conclusion Il follows.
03. Either conclusion | or |l follows.
04. Neither conclusion | nor Il follows.
05. Both conclusions | and Il follow.
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Statements:

Only a few B are L.
No B Is S.

Conclusions:

. Some S are definitely not L.
Il. All L can never be S.

01. Only conclusion | follows.
02. Only conclusion Il follows.
03. Either conclusion | or |l follows.
04. Neither conclusion | nor Il follows.
05. Both conclusions | and Il follow.



Live Quiz @Reasoningbybasantsir

Statements:

Only a few W are C
Some B are W
No Dis C.

Conclusions:

l. At least some W are D.
Il. All C being B is a possibility.

01. Only conclusion | follows.
02. Only conclusion Il follows.
03. Either conclusion | or |l follows.
04. Neither conclusion | nor Il follows.
05. Both conclusions | and Il follow.
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Statements:

Some P are S
Only afew S are N.
No Nis aP.

Conclusions:

l. All N being S is a possibility.
Il. Some S are not P.

01. Only conclusion | follows.
02. Only conclusion Il follows.
03. Either conclusion | or |l follows.
04. Neither conclusion | nor Il follows.
05. Both conclusions | and Il follow.
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Statements :

1>3>5>7<6, 2>5<9<8=4

Conclusions :

.
1.
01.
02.
03.

04.
05.

6> 4
426

If only conclusion | is true.

If only conclusion Il is true.

If either conclusion | or Il is true.

If neither conclusion | nor Il Is true.
If both conclusions | and Il are true.
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Statements :

1>3>5>7<6, 2>5<9<8=4

Conclusions :

.
1.
01.
02.
03.

04.
05.

3=8
3#4

If only conclusion | is true.

If only conclusion Il is true.

If either conclusion | or Il is true.

If neither conclusion | nor Il Is true.
If both conclusions | and Il are true.
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Statements :
Z>Y>E=N,Q>K>N<S<X

Conclusions :
. Z>N
1. Z>K

01. If only conclusion | is true.

02. If only conclusion Il is true.

03. If either conclusion | or Il IS true.
O4. If neither conclusion I nor Il is true.
O05. If both conclusions | and Il are true.
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Statements :
Z>Y>E=N,Q>K>N<S<X

Conclusions :
. Z2 X
. SZ2E

01. If only conclusion | is true.

02. If only conclusion Il is true.

03. If either conclusion | or Il IS true.
O4. If neither conclusion I nor Il is true.
O05. If both conclusions | and Il are true.
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Jiya walked 6 metres towards West, then she
turned left and walked a distance of 9 metres.
Then she turned right and walked a distance

of 6 metres.

forar 6 Hiex aftas it Y Tt 3, Yy Fg aw
%?hg%ﬁtg:ﬁaaﬂ?ﬁ%lﬁwaamﬂshﬁw
|

Now, how far is she from the starting point?
01. 18 meters

02. 15 metres

03. 21 metres

04. Cannot be determined

05. None of these
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Jiya walked 6 metres towards West, then she
turned left and walked a distance of 9 metres.
Then she turned right and walked a distance

of 6 metres.

forar 6 Hiex aftas it Y Tt 3, Yy Fg aw
%?hg%ﬁtg:ﬁaaﬂ?ﬁ%lﬁwaamﬂshﬁw
|

Now, how far is she from the starting point?
01. 18 meters

02. 15 metres

03. 21 metres

04. Cannot be determined

05. None of these



Live Quiz
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

S, T,U,V,W, X, Y 3iX Z a1 31e safdd vs & 318 a&
TS IFIT-37eT9T FAforall X @ §1 37 Y F&ar 1§ 3w
W FUT Y AfSTer Y T&AT 8 § AfheT ST A1 o 3¢t
A A g X U fawer & arell #fSrer ¥ Tgar § afha
mmﬂwaﬁw%l Z, X & &1 «ird Tgar g1 Z 3R
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

How many persons live between W and X?

01. One

02. Three

03. Five

04. Two

05. None of these
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

Who lives on floor number five?

01. U
02. S
03.Z
04. T
05. None of these
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

Four of the following five are alike in a certain way
based on the given arrangement and thus form a
group. Which is the one that does not belong to that
group?

01.Y
02.V
03. T
04. X
05. W
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

Who lives immediate above V?

0l1.Z
02. T
03.Y
04. W
05. None of these
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There are eight persons namely S, T, U, V, W, X, Y
and Z live on eight different floors from one to eight.
The ground floor is number 1 and the top floor is
number 8 but not necessarily in the same order. X
lives on an odd numbered floor but does not live on
the 3rd floor. Z lives immediately below X. More than
two person lives between Z and Y. There are six
person living between S and Y. V lives immediate
above W but live below T. U does not live above X.
W does not live immediate above Y.

Who lives on 2nd floor?

01. X
02. S
03. U
04. 7
05. None of these



Live Quiz
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Six buildings E, F, G, H,  and J have different
number of floors. Building G has more floor
than 4 building but less than only building E.
Building J has less floor only than three
buildings including I. The building which has
third highest floor, is 26 and the building
which has least number of floor, is 5.
Building F does not have least number of
floor.

B8 SARAI E, F, G, H, | 31X J & A5« & gEar
ETIT-370T9T ¥ | SARA G & 4 $ART & 30+ Aforer
g dfhd FaAT SARTE A FA ¢ ART J & | gie
mmm#mm%u mgﬁﬁﬁ
ol ged S AT 8, ag 26 § 3

H 998 &A Al ¢, a'gs%lﬁﬁmFﬁmam
FiSTeT =TeT 81
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Six buildings E, F, G, H,  and J have different
number of floors. Building G has more floor
than 4 building but less than only building E.
Building J has less floor only than three
buildings including I. The building which has
third highest floor, is 26 and the building
which has least number of floor, is 5.
Building F does not have least number of
floor.

If building F has 14 floors less than building |
then how many number of floors may
building J have?

01. 27

02. 16

03.9

04. 11

05.4
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Six buildings E, F, G, H,  and J have different
number of floors. Building G has more floor
than 4 building but less than only building E.
Building J has less floor only than three
buildings including I. The building which has
third highest floor, is 26 and the building
which has least number of floor, is 5.
Building F does not have least number of
floor.

Which of the following buildings has third
least number of floors?

01. Cannot be determined

02. H

03. G

04.J

05. F
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